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W+D>2750mm DIFEITIE.
ERDBICOAMETIET,

750/0 750/1 750/2 750/3 430/0 430/1 430/2 430/3 * KR - WIERITEY,
il = R
i fihiE 750/0 750/1 750/2 750/3 430/0 430/1 430/2 430/3 * 155 - 50mmE TIHET BT A,
1% FEEE : 1050/,
= BAm(M) 14700 22050 23100 24150 13650 21000 22050 23100
BIREE(mm) ~350 ~400 ~500 ~600 ~700 ~750 ~800 ~900 ~1000 ~1100 ~1200 ~~1300
*)% B (M) 7560 7665 7770 7980 8190 8400 8610 8925 9450 9975 10500 11025
i
g * * * ~1400 ~1500 ~1600 ~1700 ~1800 ~1900 ~2000 2000~
* * * 11550 12075 12600 13125 13650 14175 14700 ASK oy
* BARZREG :HorE (KBE%L).
ZTOMOEIE FIEEEY.
® BE(750/4304:8) 0~3 BAREE(mm) ~350 ~750 ~1000 ~1500 ~1800 ~2000 2000~
i
g REEE (M) +10500 BB () +4200 +4620 +5040 +5460 +5880 +6300 +ASK

BB (RAAIBEHRER) :W1500xD750xH750mm #I750/0+750/1+750/2+750/3 #EFELk
Bk (12075x2+8400x2) +M1 (14700+22050+23100+24150)=124950 {BEZHTIHEEIE+BEREE (5460x2+4620x2) +HIEE (10500x4)}
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